BEAD GEXEF - BTTH5)

LfT7E3A 18
;1) X % # F K A ! % %

B 7 & o X 6,938 13,267 6,95 | 6,316

X B # K 1,199 2,784 1,379 1,405

£ P # K 547 1,363 685 678

N RO K 1,018 2,559 1,284 1,275

Bl 4% i K 7,207 14,764 7,203 7,56 |

N | R # K 1,317 3,052 1,488 1,564

it XX M # K 1,039 2,374 1,183 1,191

it &8 & b K 7,956 18,199 8,670 9,529

B » B # X 6,608 16,146 8,068 8,078

& 5 33,829 74,508 36,91 | 37,597
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B R B 736 1,605 779 826
& & 1,011 2,173 1,022 1,151
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= & 1,960 3,884 1,914 1,970
B | TH 244 425 216 209
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& 7 #7 @ T 65 151 74 77
‘A BE YR E] 108 247 118 | 29
g @\ 60 |39 74 65
it /H  H 75 187 92 g5
N OB 31 81 43 38
& ‘A 66 171 86 85
X B 5 15 7 8
BAaa | TH ql 188 102 86
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